Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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1 a
(08 Marks)
b. ] (04 Marks)
c. List and explain 1mportant contributions made by F.W. Taylor under Scientific
Management. (08 Marks)
2 a. Compare Strategic plan;nng and Tactical planning. (04 Marks)
b. Explain briefly the guidelines for making plahning effective. (06 Marks)
c. Identify the, mtuatxons for Individual and, .Group decisions. Briefly explain the advantages
and disady ntages of Group decision. (10 Marks)
3 a
b. oadly clasmﬁed" Br1eﬂy explain.
(04 Marks)
C. (10 Marks)
4 a. Briefly explain the essentials of Effective Control System. b (08 Marks)
b. Explain the important.characteristics of leadership. (04 Marks)

¥

ion. List some of the important purpos  communication. (08 Marks)

a. With a neat block diagram, explam the process of problem solving and decision making in
Engmeerlng Economics. > (10 Marks)

: (06 Marks)
(04 Marks)

A person wants to gltve Rs 25,000 as scholarshlp every year in memory of his late father. He
it gtlump sum in the bank wh1ch makes him to receive the required amount

oooooo

Find the si “’gle payment that must be made now as the reserve amount. (08 Marks)

How are assets with unequal hves compared? (05 Marks)
Explain the “Rule of 72” as-applied to Present worth comparisons. - (05 Marks)
c. Compare the Present worth of the following alternatives using an interest rate of 7% :

[ Plan A | PlanB | Plan C
"| Life Cycle (years) 6 3 4
First cost (Rs) 2,000 | 8,000 | 10,000

Annual cost (Rs) | 3,200 | 700 500
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a. Explain i) Ownership life ii) Accounting life %fgﬁ)w%conomic life. (06 Marks)
b. Explain: i) MARR ii) IRR. [ (04 Marks)
c. A patch of land adjacent to International Airport is likely to increase in value. The cost of

the land now is Rs 8,00,000 and expected worth'is Rs 15,00,000 within 5 years. During the

period it can be rented for a small Industry at, Rs:15,000 per year. Annyal taxes are Rs 8,500

and likely to remain constant. What rate’of réturn will be earned oOr :the investment if the

estimates are accurate? &i% 4 (07 N4 (10 Marks)
a. Differentiate between Estimationﬁaﬁé@osting. ¢ (04 Marks)
b. Explain the following terms : .. & -~

i) Prime cost i) Factory co%t i) Costof Prodtfefipri iv) Total cost.(06 Marks)
c. Two operators are engaged ‘on forging machine for 25 jobs, each weighing 4 kg in a shift of

8 hrs. They are paid at the rdte of Rs 100/hr and Rs%%g%@/hr per day. The forged material costs

Rs 3.50 per kg. If th%gﬁ%é@&y and administrative-omcosts put together are twice the labour

cost , find the cost of production per unit. W (10 Marks)

d A &

a. What 1s Depreg’i**@ti”ér?g? List different methods:of determining depreciation. Explain any two

ofthem. , , ¥ G (10 Marks)
b. A Company Tias purchased an equipment whose first cost is Rs 2,00,000 with an estimated

life of eigﬁ;éﬁ%ars. The estimated salvage value of the equipment is Rs 40,000 at the end of

its l}age’gme Determine the depreciation change and bqg%;ggalue at the end of various years

using Stm of years digits methodof depreciation. % 4 (10 Marks)
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